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5303-G 

M.Com. (FINAL) A.B.S.T. EXAMINATION, 2019 

Paper – III-G 

SECURITY ANALYSIS &  

PORTFOLIO MANAGEMENT  

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v 

Q.1 (i) What are non-security investments? Give four examples.  

  xSj izfrHkwfr fofu;ksx D;k gS\ pkj mnkgj.k nhft,A 

 (ii) Differentiate between expected and historical return.  

 ,sfrgkfld ,oa izR;kf’kr izR;k; esa varj dhft,A  

 (iii) What is intrinsic value?  

  vkarfjd ewY; D;k gS\  

 (iv) Give the formula of ROI and Payout ratio.  

  ROI ,oa Hkqxrku vuqikr dk lw= nhft,A  

 (v) What are the primary and secondary movements?  

  izkFkfed ,oa f}rh;d pky esa D;k gS\  

 (vi) Differentiate between bid and ask prices.  

  fcM ,oa vkLd ¼iwN ,oa cksyh½ ewY; esa D;k varj gS\  

 (vii) Write two factors that affect market efficiency.  

  cktkj dq’kyrk dks izHkkfor djus okys nks rRoksa dks fyf[k,A  

 (viii) What are the various forms of Efficient Market Hypothesis?  

  cktkj dq’kyrk ds fofHkUu Lrj D;k gS\  

 (ix) Give the formula of Beta.  

  chVk dk lw= nhft,A  

 (x) The risk free rate is 8% and the market risk premium is 12.6 and β of security is 

1.5. What is the expected return of security under CAPM?  

 ;fn tksf[ke jfgr nj 8% o cktkj tksf[ke izhfe;e 12-6 gS o izfrHkwfr dk chVk 1-5 gSA 

CAPM ds varxZr izfrHkwfr dh izR;kf’kr izR;k; nj D;k gksxhA   

PART – B @ @ @ @ [k.M[k.M[k.M[k.M& & & & cccc    
UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 What do you mean by Security? Explain the process of investment undertaken by an 

investor.  

 izfrHkwfr ls vki D;k le>rs gSa\ ,d fofu;ksxdrkZ }kjk fofu;ksx ds fy, dke esa yh xbZ izfØ;k dks 

le>kb,A  

Q.3 Distinguish between economic environment and financial environment. How do the 

environmental factors affect the stock prices?  

vkfFkZd ,oa foÙkh; i;kZoj.k esa varj dhft,A i;kZoj.kh; rRo LdU/k ewY; dks fdl izdkj izHkkfor 

djrs gSa\  
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UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 What is industry life cycle? What its relevance to security analyst? 

m|ksx thou pØ D;k gS\ izfrHkwfr fo’ys"kd ds fy;s bldh D;k izklafxdrk gS\  
Q.5 What is economic analysis? Discuss the economic force within which factors of 

investment operate.  

vkfFkZd fo’ys"k.k D;k gSa\ mu egRoiw.kZ vkfFkZd rkdrksa dks le>kb, ftuds chp fofu;ksx ds rRo 
dk;Z’khy gksrs gSa\    

UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 “Technical analysis is useful for predicting individual share price as well as direction of 

the market as a whole.” Elaborate and illustrate.  

 ^^rduhdh fo’ys"k.k O;fDrxr va’k ewY; ds iwokZuqeku ds lkFk gh lEiw.kZ cktkj dh fn’kk tkuus ds 
fy, Hkh mi;ksxh gSaA^^ lksnkgj.k le>kb,A  

Q.7 What do you mean by efficient market hypothesis? Bring out its various forms.   

 l{ke cktkj fl)kUr ls vki D;k le>rs gSa\ blds fofHkUu :iksa dks le>kb,A  

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Stock of X and Y yielded the following returns for the past two years-  

Years Return of X (%) Return Y (%) 

2018 12 14 

2019 18 12 

 (i) What is the expected return on portfolio made up of 60% of X and 40% of Y? 

 (ii) Find out the standard deviation of each stock. 

 (iii) What is the covariance and co-efficient of correlation between stock X and Y? 

 (iv) What is the portfolio risk of a portfolio made up 60% of X and 40% of Y? 

 izfrHkwfr X o Y ds fiNys nks o"kksZa ds izkR;k; fuEu izdkj gSa&  
Years Return of X (%) Return Y (%) 

2018 12 14 

2019 18 12 

 ¼i½ ;fn 60% X o 40% Y dk iksVZQksfy;ksa cuk;k tk, rks izR;kf’kr izR;k; nj D;k gksxh\   

 ¼ii½ izR;sd izfrHkwfr dk izeki fopyu D;k gksxk\   

 ¼iii½ X o Y ds e/; lgfopj.k ,oa lglaca/k D;k gksxk\   

 ¼iv½ ;fn 60% o 40% dk iksVZQksfy;ks cuk;k tk, rks iksVZQksfy;ks tksf[ke D;k gksxh\  
Q.9 “Higher the return, higher will be the risk.” In this context, discuss the various risks 

associated with portfolio planning.  

 ^^mPp izR;k; rks mPp tksf[ke Hkh gksxh^^ bl lUnHkZ esa iksVZQksfy;ks fu;kstu ls tqM+h gqbZ fofHkUu 
tksf[keksa dks le>kb,A  
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UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 As a portfolio manager of assets Management Company, what are necessary in the 

portfolio management? Discuss. 

 fdlh lEifÙk izca/k daiuh ds iksVZQksfy;ks eSustj gksus ds ukrs] iksVZQkfy;ks izca/k esa D;k vko’;d gS\ 

ppkZ dhft,A  

Q.11 What are basic assumptions of CAPM? What are the advantages of adopting CAPM 

model in the portfolio management? Is there any limitation of this model?  

 CAPM dh vk/kkjHkwr ekU;rk,¡ D;k gSa\ iksVZQksfy;ks izca/k esa CAPM dks viukus dh D;k mi;ksfxrk 

gS\ bl ekWMy dh D;k dksbZ lhek,a gSa\  

PART – C @ @ @ @ [k.M[k.M[k.M[k.M    & & & & llll 
Q.12 What is meaning of Investment? Discuss the different channels or alternative available 

to an investor for making investments.   

 fofu;ksx dk D;k vFkZ gS\ fdlh fofu;ksDrk dks fofu;ksx djus ds fy, miyC/k fofHkUu voljksa dh 
O;k[;k dhft,A  

Q.13 Explain in brief the different ratios for analysing the financial strength of a company. 

How does these ratio help in selecting shares?  

fdlh dEiuh dh foÙkh; {kerk dk fo’ys"k.k djus ds fy, fofHkUu vuqikrksa dks la{ksi esa crkb,A ;s 
vuqikr va’kksa dk p;u djus esa fdl izdkj mi;ksxh gaS\  

Q.14 Define technical analysis and fundamental analysis. What is difference between two? 

Which one is superior? Why?  

rduhdh ,oa vk/kkjHkwr fo’ys"k.k dks ifjHkkf"kr dhft,A nksuksa esa D;k varj gSa\ dkSu lk ,d Js"B gSa\ 
D;ksa\  

Q.15 “Risk is inherent part of investment activity, systematic risk cannot be avoided; however 

non-systematic risk can be avoided.” Explain.  

 ^^fofu;ksx xfrfof/k esa tksf[ke varfufgZr gksrh gSa] O;ofLFkr tksf[ke dks Vkyk ugha tk ldrk gSa tcfd 
vO;ofLFkr tksf[ke dks Vkyk tk ldrk gSA^^ le>kb,A  

Q.16 What would be the nature of portfolio risk if two securities are (a) Positivity correlated 

(b) Negatively correlated, and (c) Have zero correlations? Explain with suitable 

example. 

 iksVZQksfy;ks tksf[ke dh izÑfr D;k gksxh\ gksxh ;fn nks izfrHkwfr (i) /kukRed lglEcfU/kr (ii) _.kkRed 
lglEcfU/kr (iii) 'kwU; lglEcfU/kr gks rks\ mi;qDr mnkgj.k lfgr le>kb,A  

----------------------------------------- 


